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fENWIG GCOMNG: The Player who wins ot last 4 Points firet with oo (minlmun  gifference
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S5(ORE & OF PDINTS

leb the ool OF the game 15 05 folbows: @ 5
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PLAYER L © Q@ 15 30 © ADVANTAGE 30 z
PLAYER 2 4o 3
PLAYER 2: 15 30 4o
us Y
@§ PLAYER 1 © Q@ 15 30 4o PLAYER L © Q@ 15 20
PLAYER 2: & 15 320 4o PLAYER 2: Q 15 30 4o 45

PLAYER 2 WINS

© ' DeUCE'

PLAYER L © Q@ 15 30 4o PLAYER 1 @ Q15 30 4O 45
PLAYER 2: Q) 15 20 HO 4B PLAYER 2: Q& 15 20 4o
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THE GAME! “ THE GANME 15 MEMDRY LE%[”

WORDSs OF WIisDOM

Wow ! @ THE NATURE ‘MAY NOT QEMEMBE® YOUR EFFORT!
YoU MAY BE JUST A STEP AWAY FROM 5UCLEGS!

50 KEEP GOWNG!
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